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(1)

gxX)=x—Ff(x) &35& g'(x)=1-f'(x)

SIEONIZED  g()Z1-Kk>0ThaMD, a=x=blcHB\\ T, g(x) IFHEABNTH 5,
Zr(m)icky g@=a-f(@)=a—-a=0 gb)=b-f(b)=b-b=0

g'(X)>0LY. g(@=gb)=01TiT725R2N5, a=x=bIlZBWVT, gX)=0&725 x23, 7272 1 D17
T5, T7hbb, a=x=bIZBWVT, f(cy)=Cy ZiM72T co2d 7272 1 IFET D, GEFIRK)

(2)

dy=¢c, THY, LIFd, =dy=--=d, =¢, THDND, [d, —co|=0 L7220 BEEITHL,
do#Co D & X

dy#c, TH Y, LLNd, #¢y, dy #Cy, -+, d,, #Cu THDHMN D,

TEEOEIRIC LY f(d;fl)‘cf(%):ddn‘cg _fQ) ERBED T, d ko ORI C MEET B,
n-1 "~ %0 n-1~ %0
d, —cg

5 =|f'c) |d, —co|=|F'©)||dny —Co| =k|d g —Co| |dy —Co| =k|dy —co] —D
n1~Co

Dz K LAWIUE  |d, —co| =k|d, 4 —co| =k?|d,_, —Co| =---=k"[dy — 4|

L7eho T, |d, —co| =k"|dg —co| AR STz, GEBIFK)
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